FH29FE IRRPERNRTY FR—ILMERE F—FAVER
295 9 A 8 AITER

23A(X)i 24A(H): 30A(L): 7B(X)-8B(H): 30A(L): 24H(A) 23H(L)

E=IET 1 12 #H B
ENEN 2 — F3 F1 — 13 BIEA
D2 Cc3
£=8F 3 — 14 X B
C5 A c c4

: —— 15 FOET-FR
FENNEm 4 Y D1
F4 &5 F2 — 16 R &
ZEINE— 5 I) 17 XKE®
E-kE 6 | 18 HMzOHH
EWET 7 —— E4 7 E2 — 19 A2T4«7
G2 Y4 1N C4
E-EH 8 — Ly % & &
Cc3 5 5 Cc6
FE_BF 9 — — 21 FIE=
G3 G4
& pa Rl — | T 1&E
ZFEINER 1 23 FRINE=
238(%) 1H(H) 7H(*)-8E(H) 1H(B) 238(%)
RINEN 1 " AEH
(T 2 D3 Bl — 15 #m=xs
C5 D3
FE=fET 3 — 16 HE 5
D6 A C E5
EINER 4 — — 17 F=&8F
C6 ? D4
=] [— L )
% P 5 D4 /% E2 18 E/ mT
EOET 6 — H 19  ZFIEZ
G5 IJ

THIK 71 — |

FEINEM 8 7 20 RINE—

- E3 D2 B (1|4

FEIEE 9 —— EJZ — 21 FIER
G6 G1

E_8F 10 — —— 22  FIEt

E6 5 5 D5

FEWE 11 —— —— 23 MAZDHHMHA
D5 D6

X B 13 25 ZFIE=

AGEINNESR B1-B2:ZEINAK-=YtY48— CEINmp D:FEINJ/Nh E:Z&F F:=d G ZEllts
238 (1ER)CLEBERUD-E-F-G£15 : 19:00 @10:20 ®11:40 @13:00 B14:20 ®15:40
30B(XER)CEE : ®@12:40 @14:00 B®15:20 ®16:40

78 (1ER)BLE : 19:15 @10:35 K TOHAREAE ®13:30 @14:50
SH(HEER)AL®E : 19:30 @10:50 ®12:10 @13:30



FER2 9FE IRRFAZERNRT Y FR—ILMERE RE)—JTER

R — U E

[ZFRERR]

A B Y D AR [[Etivd

Ol O T >

[ FRER]

A B C D B5ER (=i

Ol o T >

X ADFERIREBIESMEFLET D,

1078 (X#ER) Bla—k TO B2a—Fk TO
9:15~ £ 1 HA ®= A - B ® C - D
10:35~ £ 2 HAE ®» A - B ®» C - D
12:10~ -{79??3]—?%;7%1%—7) (BF) - (%F) -
13:30~ £ 3 HE ® B - D = A - C
14:50~ £ 4 HAE ®» B - D @ A - C

16:00~ (&R

10A8H (HER) Ad—k TO
9:30~ £ 1 RE & B - G
10:50~ £ 2 HE ®» B - C
12:10~ £ 3 HE = A - D
13:30~ £ 4 RE @ A - D
14:50~ (FA&=)

15:30~ (RES—FEE5KXKESHESR)



